pp. 173:
Problem 8.9: At the end of line 5
	Delete ‘aa’

pp. 174:
Problem 8.16: In the second line replace 2000 R by 
	2000 F. 

pp. 175:
Problem 8.21: In the second line  
	Replace 32 psi by 100 psi.  
Problem 8.21: In the second line delete the phrase  
	inlet velocity is 900 ft/s and   
		    The sentence should read as below:
	The inlet velocity is 900 ft/s and mean radius is 1.5 ft. 
Problem 8.21: Modify the answer as below  
	Ans:  = 1.205;  = 0.358  

Problem 8.22: Add the following sentence at the end of the problem  
	Assume that the stage is repeating and inlet velocity is axial.  
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